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Rajasthan CET Sr. Sec Level Exam Question Paper 22 Oct 2024 2nd Shift

How many types of genotypes are formed in F2 generation of monohybrid cross?
wehArEeRT €T <l F2 gt 3 foram Wt & St frfifar 2 9
/,4( 3 B) 2
©) 9 (D) 4
(E)  Question not attempted / AR w1

Which coal contains the highest amount of carbon?
(A) Bituminous

(B) Anthracite
(C) Lignite

(D) Peat
(E) Question not attempted
fore g & srfreraw A # el T ST &
(A)  foefrm Y T
(C) forarge (D) de
(E) IJuiaa=
Select the plants found in the subtropical mountain forest in Rajasthan :
(A) Mango, Neem (B) Dhokra, Palash
(C) Khejn, Ber (D) Ker, Thor, Foag

(E) Question not attempted ’
T & SU-IWTfE T YRSt & F T S AT a1 = i

(A) W, 4" BT uﬁ:;r AT
©) T, (D) U
(E) STIaRa

Bamboo forest is found in which of the followi_ﬁg districts of Rajasthan?
Choose the most appropriate option from below:

(A) Churu B) J a.isalmer
(C) Banswara . (D) Bikaner

(E) Question not attempted

afd &1 STl (Bamboo forest)mﬁ%ﬁmﬁ@aﬁéﬁmﬁa\ﬁwm%?

o 3 & wa ST fashed

(A) T ‘ . (B) SEe
A€T arEarst . (D)

(E) HAIAf@ya

Chuliya waterfall is located in which of the following regions of Rajasthan?

Choose the most appropriate option from below: . )
(A) South eastern plateau region (B) Western desert plain region
(C) Eastern plain region (D) Aravali region

(E) Question not attempted

Fferar sreugTa TeedT & Frafaftaa § | fpg g o oraftaa &2

ot & & w3 farae )

(A)  feror o gl (B) ey sreeretta g &7
ey ot et & (D) Imach &

(E) igaiaga

| [PTO
Q3 F 2
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What percentage of the total land mass area of India is in Rajasthan?

Cboose the most appropriate option from below:
Ty T foRT ST T T H R

YA F T
P & T UG (9 I .
/(’5(’ 10.4% :": (B) 12.4% o))
(c) 73% ot (D)  13.3% WO
(E) Question not attempted A W W
~
Rosewood, “3110‘10“" :md Ebony species of trees are found in which type of the followingTorest areas?
Choose the most appropnate option from below: ™M
(A) Montane S (B) Littoral and Swamp i
(C) Tropical Evergreen , (D) Tropical Thom
(E) Question not attempted s 2
umq#ﬁﬁafnqmﬁmﬁ%ﬁgﬁm%ﬁmﬁﬁ%qa:%ﬁmm%v 7,
et R mﬁm sl QO
Pl AR \O (B) @ 3 et Yo
(C) ITTHEHUE HIEER (D) IS FN —
S el — =
€ ST m ™M
- ‘ r—l
Data are transferred between different components of a computer system using physical wires called :
(A) Bus (B) WAN
© CPU . ™ (D) Flowchart S]-i
(E) Question not atgfnpted ’ O .
ﬁmﬁm%@ﬁ:m%mmmﬁmmmm%mmmmm i
(A~ =6 = (B) S
(©) ¥y fr’% _ (D) T =
() FEiasd —
In Microsoft word, which of the following provides information about the current document?
(A) Status bar (B) View buttons —
(C) Standard Toolbar, (D) Tabstop 8’3
(E) Question not aug?npted ) ) v
maéﬁﬁm%%ﬁ ﬁﬁﬁqwmﬁa%aﬁﬁmmm% -3
(A) V@R i:) ‘tg)r ;é“'m{"q ‘?_)
.S ™ M b
(E) Jgaiaws
10 Which of the following is NOT a function of MS Excel? ‘ s
1 .(B) Subtract ()
(A) MAXOQ (@)
© Cout0 oA (D) MINQ "
r\p m
(E) Question not attgmpted 0
S § & F1 R 1 FE T8 o
(A T 2 (B) ®EH () 2
©) (O ‘:’_! D)~ THATET () i
(E) uRa ¥

Q31T 3
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e I WUTIPOUTIG G DC QDUTTNICU TTOTI IS TV UL I HDIIS Wy nise veanassss s
methods in laboratory, This is called :
(A)  Vital Force Theory (B) Theory of Hydrocarbons
(C)  Freons Theory (D) Wohler Theory
(E)  Question not attempted
s vt a0 drer oftfore ofvat @ ot serw foen o wreen & s geeny erarren & faw fafvat gm wedfom
e s e 1 are e &

AKT i e ) g gt

(€) it frt (D) dven firgta
(E)  argafwuy - -@'ﬂ?‘a %ws
N

D it i

-
12 Match List-1 with List-11 \\A& —_—
List-I (Forest Arca) ‘\0\ List-1I (Place)
a. Sariska Alwar
b. Darrah Kota
C. Mount Abu Karauli
d. Kailadevi Sirohi
T -1 g -1 @ gafoa AR
et -1 (7= g et -11 (Farm)
a. afem — —. FEa u a,
b. = 1. e VW2 )
c mzswq>_/,__————m. Fet /
d. e v, e
Choose the most appropriate answer from the option given below:
13 R g et & arrfores swges 3 i
a-Lb-1,c-1V,d-1II ~ (B) a-I,b-lc-1V,d-1I
(C) a-iLb-ill,c-1.d-1V (D) a-1V,b-Mlc-1,d-1I

(E)  Question not attempted / AR ¥4

o
13 A metalis in the form cubic crystal lattice. Lattice constant of unit cell is 2.88 A and density of metal is 7.20

gm/cm’, What is the number of unit cells for 100 gm metal?
-

v aT 3 foreer oy st 3 w i 8) yae A @ e Rrai 2.88 A & T T T 9 7.20 gm/em’
&1100 7T Ty # v wiferrait o w8

(A) 2x10?! (B) 3x10%

(C) 6x108 ABY 5% 10%

(E)  Question not attempted / i vy

14 Frfefea avwt # sy arm 3.

22)) mmqﬁ%l (B) w=arwuf & srer § &ar a4m
& . _ADT a@ i & mam

Q13 ] ?: 4 [ P.T.O



W

1

16

17

18

19

20

Join Telegram Group "HaryanadJobs.in"

he most appropriate English translation of the given sentence

t
gg;?saemq forar feparT &7
(A) He is insulted by w?)om? (B)  Has he been insulted?
v~ Who has insulted him? (D) What has he been insulted by?
(E) Question not attcm.plcd .
Choose the most appropriate rcporlcd form of the given sentence:
wpo you realize that the shoes )E_u.arc_ﬁvglringﬂcﬂa pair?”, I asked.
(Ar 1 asked him if he rcalizcilhal his shoes were not a pair.
(B) [ asked him if he realized that the shoes he was wearing weren't a pair,
© 1 asked that was he aware that his shoes aren’t a pair?
D) 1 told him that his shoes aren’t a pair.
(E)  Question not attempted
Choose the most appropriate option to fill in the blank:
“Is dad in?” ,
“No, he isn’t. He home an hour ago. He ____ yet.”
(A) Leaves, didn’t return (B)  Will have, has not returned
(C) Leave, not returned (D) Left, has not returned
(E) Question not attempted
Which of the following mountain peaks is situated in India?
(A) Mt Annapurna (B) Mt. Kamet
(C) Mt Everest . (D) Mt. Dhaulagiri
(E) Question not attempted
frafafaa 3 & S a1 gaq et wwa & frra &2
(A) WIE= =Y (B) WR<TFHFW
Oy TR TR (D) UR<
(E) i@ ud
Tors, block mountains, rift Valleys, bare rocky structures are physiographic features of which of the following
regions of India? ibeo
(A) The Peninsular Plateau of India (B) Northemn plains of India
(C) The Indian desert (D) The Island groups in India
(E) Question not attempted '
2R, =T dd, W artedi, o7 gt AT T ¥ Freferad 3 § fre 8 T et faerard &
T T T ST TSR (B) W & 3l AT
(C) T e (D) T &9 /9 E
E) smafasa . " =L S
Who among the following is not appointed by the Governer of Rajasthan? OO\\J k =2
\Q

Choose the most appropriate option from below:
(A) Vice Chancellor of State Universities
(B) Chief Justice of High Court.
(C) State Election Commissioner o
(D) Chairman of the State Public Service Commission
E uestion not attempted
ISP S s s e U SIS
frafafaa & & gad :T ferche <Al
(A) Tsa frafareraa & Fefd

_ABF T ATTeR 3 e A

Q3] F

&£ Tsa fataa g®
(D) TS i Qe SATANT & STAE

(B) 3Irgafwaws

h

[ P.T.O.
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21 Under Article 323 of the Constitution of India, the State Public Service Commission has a duty to present ap
annual report as to the work done by the commission, to whom?
(A)  Vidhan Sabhy (B)  President
©) ChiefMinister (D)  Governor
(E) Ques\. 0 not attempted @
T 3 S % aryede 303 o T, T e 1 S et & e o s g R
g g Vﬁ%ﬁ{mﬂa FD -
W famen (B) wufa ©
©)  TETh @) T
(E)  Sqohduy A
22 The body working at the highest level of Rajasthan administration system is :
Choose the st appropriate option from below: i
(A) Govemor's office (B)  Chief Mififster’s office
(€)  Minfsars (D)  Governmett Secretariat
(E)  Questidn not attempted \O
TS wortst () % seaa v v e 2 S
'y T I e - ™
(A) TG sEtay (B) Tegusht Frfeg
(C) = APY  utw afvarey
(E) 3safaun
—~ R
23 Who was theChief Secretary of Rajasthan as on 5th September 20247y
(A)  SubHaSh Chand (B)  Sudhansh®Pant
(C)  Satishumar (D) Jagdish l\zi_gena
(E) Quesgn not attempted -
TSI % ey wfed (05 fravar 2024 7 3 3 ™M
(A) TR _ By gutwda v
(C) wdmFaR (D) ATty o
(E) ﬂgﬁl{{ﬁ 0T -

24  Aman take$yS days more than Bhanu to do a certain job and 9 day&'more than Pankaj. Aman and Bhanu
together cafido the Jjob in the same time as Pankaj. How many days‘ an alone would take to do it?
S FE R 0§ AT 5 R ot eor i 0 et oy e A 3 g et 3 et o ey
%ma}@%ﬁ%ﬁqaﬁm‘r@mﬁmmmﬁﬁwmm@
(A) 20y (B) 25 m
) 5 v : i BT 15 -

(E)  Question not attempted / SfEa g

25  Ajay invested a total sum of 7 7,100 in three different schemes of ‘Eﬂnple interest at 3%, 5% and 7% per

annum. Affhe end of one year, he got same interest in all three s@mes. What is the amount of money
invested at 5%?

% : 0
arazm}%,q-;/o@r?:ﬁyﬁaﬁ#ﬁﬂ&mmmﬁahm-mmaﬁﬁgmz 7,100 7 faer foram
F T F HLA 39 A= AT 5 w0 223597 firem 5% ST ferr iy 1 @rofir @

72, . & T 1,500 M
)é;r/ 23,500 ® (D) -
(E)

T 2,500
Question not attempted / 3ﬂﬂft‘d 4

Q13] ? 6 = [ P.T.O.
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¢ value of IOZBJIE +25%of 512 — 5 of 75 is :-

Th

028Vi6 +512F125% - 75 % 5 W TR

(A) 4,180 -

© 4700 o
attempted / 3]’3?{‘&3’ s

(E) Question not

Person with
donate blood to all.
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blood group can accept blood from all, while person from

5,900
4,910

blood group can

(A) AB* Qe rcspecti.vely (B) AB+ ; O+ respectively

© O+ AB +  respectively (D) O0- AB+  respectively

(E) Question not attempted

/sﬁnaﬁmwﬁﬁmﬁﬁmmmmﬁ,mﬁ: i at aren =afe ot F w2
g1 Bl

(A) FAM:AB+ ;5 O- ~(B) #A: AB+ ; O+

(C) O+ ; AB+ (D) @#H I O0- AB +

() SoRa wH | |

A dealer offers three succes:
discount rate?

e e foRdT ] TSR 50%,
(A) 69%
© 60% (D)

(E) Question not attempted / I 7

sive discounts of 50%, 10%, 20% on an article. What is the single effective

IO%GﬁIZO%Eﬁ?ﬁ?QEQHT%IWWQZHW%?

72%
64%

.. 3
e length of whose latus rectum is 8 and eccentricity is 75?

What is the equation of the hyperbola, th ;
maﬁmmmw%ﬁﬁqﬁmaﬁmﬁ 8 YT Iehgdl 5 &7

- J ) 2 2

X Vs ’\9, r\d-( X Yy
) === LA nadq B) -

2 2 oW 2 2
© 25720 AP 7
(E) Question not aitempted / TR FE
After the death of Rana Ratan Singh who became€ the ruler of Mewar? .
(A) Rana Vikramaditya (B) Rana Amar ang.h
(C) Maharana Pratap (D) Maharana Raj Singh
(E) Question not attempted
mmﬁaﬁm%v&ﬂmwmﬁm A

&y on fasratecd (B) T SHTTHE
(C) T SaTT (D) weraon T e
(E) ordfta w4 |
i i i istri associated with?
(WAhxch art fc')rm is Mangilal Mistr ©  Ravan Hatha
)l : (D) Kavad

(C) Shahnai
(E) Question not attempted o
SRR

> : EACES
(©) _ iy
(E) STaia ¥

- [ P.T.O.
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2 Inthe firg stage of Rrmation of present state of Rajasthan Cabinet of matsya union was formad under the
Radership of "" i
(A)  Shn l‘qu Singh (B)  Shri Mange Ram )
() Shn Shodha Ram (D) Shn Alwar Singh lO

() Questicerhot attermprad

*ﬁﬁm&#m&wﬁwﬁmmmuﬁwn%ﬁ“mﬁmmw

@A) Sdv iRy (B) W wROw M
487 Rohw O WNywmRr
(E)  STSRaww

R Kavita is motidiindaw of Seema who is sister-in-law of Ashok. Ajay is fathegparf Vinod and only broth T of

Ashok. S“““% wife of Ajay How is Kavita related to Ashok? =)
(A} Mothenga-law B Wife :-2
(©)  Mother— (D)  Sister H

(E)  Questidabhot atrempiad
"J“ET "‘a’ﬂﬁ%ﬁ%“‘? SNIER SR RS suT, e Ffa \“ftiﬁ‘ﬁ?"‘“sﬂﬁ AT SIS
Faar «‘:ﬁ?%mrﬁa%‘ ) l"‘_%_ﬁ?.‘ Gﬂa )“

(A) §= (B) W&t

gor i ® =& ﬁ@_{dp\—ﬁ wf

{E) &'m | ﬁ"*'; R{' ’g
M OIf \m&qgmmu West, South-East becomes North and so on. What wilkBas b&ome "R— X

(A) North 4 (B) South :3

(C) North-Trx (D) South-East O

(E) Qucan\mt anempad
RIS uﬁnmaﬁwﬁmmm%sﬂtmmawmmaﬁﬁmwm

(A SN (B) =¥
o SR-EE (D) - .
(E) szga'frmw ' N

L
h

Acuhc:sco@dmon all faces. It is cut into 64 smaller cubes ofequalétg How many cubes are there
which have qaiy one face coloured out?
T 7 (799 Snf1 e § w0 e iR S @ sl s [ o SERE msgﬁéqﬁ(wﬁﬁmmh

R ey () S et o s 7T ™
AT 24 B) 26 —
(C) 20 D 22
(E) Qumi@not attempted / ARG WX —
36  The branch ofStience which is related to the improvement of human race am@ based on Mendel's Law &
(A) “"-701;‘908} (B) Genetics w
(©) r\mhrcalogx (D) Fugenics L,
(E) Questigmnot attempted Q
ﬁaﬁﬁﬂmmmm%w&mkmm%ﬁﬁ“
(&) TR RSt ((31‘ JERER X ®
(© WA /ST R /%——
(E) AR XA
013 ] ? : 8 | rT.0
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e F1 generation is crossed with any one parent, then jy i called;
Whe .-

() feciprocal erow . (B) " Dihybrig cross
(" [ent Qross (D) Back Cross

() Question not \‘Ef""‘wd ,

o 11 i ot faelh <y S TN AT ST B A ey .

A) ;ﬂﬁ{,ll dau S ﬂf) faviar Heaproy
() gl ™M (D) T Hepoy

(S v

Choose the word silmunr in meaning to the underlined word:

(E)  Question not attempted

a3 F

13016691

It is exasperating lu&!gcn to the suggestions of my neighbour about international afg\‘
pothing. WO 0
(A)  boring . (B) frustrating Y
() disappointing® (D) amusing S
() Question not ﬁ‘EFmplcd m
Lan
Choose the word similar in meaning to- TENACIOUS
(A) resolute il ' (B) malign
(C) timid (@) (D) modest g
() Question nm@emptcd ' {o)
' O
~ —
Which of the followIhg is NOT an input device of computer? P
(A) Joystick ™ (B) Monitor 28
(C)  Trackball (D) Image scanner i
(E)  Question not attempted
Freferfiera i & A w1 O e feaga gt & —
(A) Safes - @ - (B) T 2
© ¥WEE (O P TR O
(B) orqafawy v —
(&) o
Choose the most npggpriatc word to complete the given sentence: —
The City Centre Mall was crowded tourists. "
(B) wit
(47" from
- ., (D) of L
(C) by o
. (@)}
(E)  Question not wsmptcd W0
Choose the most apgkgpl' te word to complete the gw:lcs;r:lcncc. —
A teetotaller is one who abstains ___——— ' o
P (B) on (49
(4)  from i (D) with i
JAS"in !

rs of which he knows

[P.T.O. :
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Select the reptilian member found in Rajasthan :

(A)  Wild boar (B) Buzzard
(C) Indian Porcupine (D)  Indian Chameleons

(E)  Question not attempted
TS I g I a0 SUg9 599 = 997 ey

(A) ISR ETEE T (B) w==d
(C) wre= & e TF) Py v frfrr feas 355,

{E} \qzé\'l N“E! .;.g

Which of the following will undergo faster bio-degradation?

(A)  Mango pulp (B) Mango wood
(C)  Mango seed (D)  Mango peel
(E)  Question not attempted

et e Suw a1 ¥ SewTE e e

(A) FEFT (B) IWF T
(C) === BT IEEees
(E) SS=Erass

G

The scientist who classified the blood into different blood groups is-

(A) Karl Landsteiner (B) Edmund King
(C) Richard Lower (D) Jean-Baptiste
(E) Question not antempted
é:ﬁs%%ﬁmaﬁﬁﬁ:a%tmﬁiaﬁgﬁﬁmm,aai

/un’ Eaie—c—ir oy B) wa=sfFEr
(C) F=Z&== (D) SF-3fe=
(E) FgEraws
FE-IEEET - T gifoE e -
T -1 (AT ) T -1 (@)

a o L ags

b. fnig L =

c g I HEEﬁF(!

d ggEmy V. J5divE
ﬁ%ﬁqmﬁapﬁﬁémﬁammﬁﬁq:
(A) a-Wb-lLe-1v, 4.y ABT a-1V,b-MLc-1,d-TI
© a-Lb-1v,c-m 4. (D) a-NLb-Le-Id-1V
(E) smfauxy
TR A=A g .
o =1 ® i
A = D) =
(E) Sgefaws

Q13] ? 10 1 pT.0:



L Join Telegram Group "HaryanaJobs.in" %,
3

| °

48 e ] C?s (B) 3y ;
c 2 {Q (D)
© i o B o
I R ©
@ . " 1
I bcconOSOmlon er wl g
e
19 The ¢ shadow of the po \:j g 1en the altitude of the sun changes from@5° tg 30°. Then the
o hmght of the POIC : 0
FAATT (TEIET) 45 ﬁsoom%m@ﬁﬁwsoﬂawmam% Sy B,
40(J5+1)n1(‘ﬁ) B) 80( 3+])
@ OO e Pr 30(5+1)mh) o)
E) Question not attcmptedmﬂagg &)
( 0 o

A sum of money is to be distributed among P, Q, R, S in the ratio of 6:2:5:3. IfR gctngOOO more than S,

then what is Q’s share?

@ ¥ P, Q, R, s%m&s3%Wﬁﬁaﬁﬁaﬁwﬁ%mﬁRﬁsanowa}ﬁaﬁﬁaﬁ%a‘rom

Ferm o &2

(A) 2,500 (B) ¥3,000

(€) 1,000 - (D) 2,000 i

(E) Question not attempted-J BITANT U7 _ ok
. e » 0

51 Kamal had 200 toffees. He gh¥t 5% toffees to Ram, 15% toffees to Aman and one-foltith of the toffees to

Gopal. How many toffees areZE:ift with Kamal after the distribution?
FE 3 T 200 Y oft1 I8 5% SR TH Hl, 15% ST 3 Y IR FA kT arnmrhmaﬁﬁmns%

TieY % 1S FUA & I R 2 = @
A) 120 (B) 130 ]
(©) 100 &) 110
(E)  Question not attempted‘ﬂiﬂgﬁﬁ?r e ' ‘ g/
G c. B .
52 e - i i ies? O §J
What will come in place of thgqquestion mark (?) In the following sert - - 197
ﬁqﬁﬁaaavﬁﬁgwﬁwv)%mt}rww - SM/
16,33, 98, 197, 590, __? l‘x'z;_ \F 6%
A5 1181 ezt ® 1281 r 9%
R L 1081 ®
© 981 pats=t O 10 | = e S
(E)  Question not attempted / 311?1‘&3 o s 90 X2 = » R e T
33 Find the simple interest on ?@00 at 6:‘;% per annum for the period from 4™ feb. 20(\330 18" April 2009.
(A) 250,00 0 () ¥ 9;’;’3 o . 197
© z37.50 ﬁ @) =7 H /157
(E)  Question not attemptedy
A 2000 & 18 388 zomﬁmﬁx%ﬁqﬂ,? 4, 0001;192 Oomﬁaﬁwﬁammﬁml
ol (B)
. e
(E) Igaiawe .
Q13 ? N a2y *\B [ P.T.O.
| 4
3 -1
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In a certain code language, ‘life is good’ is coded as ‘ti ve su’, ‘enjoy life’ is coded as *fs ti” *character shqy,
be good’ is coded as ‘nx, nu, bs su’. What is the code for ‘is’ in the given code language?
et e o d “life is good® Y “ti ve su" ‘enjoy life* @Y fs ti’ *‘character should be good’ & ‘nx, nu, bs
Y e T &1 3¢ € € NS M A it 3 o A e B9 Life !‘-‘J’«i’-‘"‘il-"’_e’@
(A) su (B) nu C"\')“f UFC- - Fsﬂ ‘
©) _AP7 ve -;ad.!hﬂ““ Leé_f_'-"{‘H"'m‘L
(E)  Question not attempted / 377afa wu Che - c
P,Q.R, S, T, K and M are sitting in a straight line all facing north direction, but not necessarily in the sam;
order. There is only one person sitting between K and R. T sits between P and S. There are only two persong
between T and M. K sits on the immediate left of P and P sits in the middle of the row. Which of the following
pairs of persons are sitting at the extreme ends?
P.Q.R. S, T. K 3R M #ft 30 foem o 3710 s oo wieft cveet o &% & Sfrer sty 7 2 o et o o 1 23
&N K TS R & o7 el W oA a1 21 Pudt s S e § T a7 2 T MM F o Faar Sraafr 23 8 P Famg
T it STK ¥a1 2 3 p AT F T F dar ﬁmﬁ»ﬁaﬁﬁaﬁwﬁa’rwﬁﬁﬁ@aﬁmﬁm%@
(A) K.M - (B) T,M
R,Q D) S, T

(E)  Question not attempted / 37afRa v
Which of the following projects has brought a revolutionary change in the tribal dominated areas of Rajasthan?
Choose the most appropriate option from below:
(A) “Veer Sagar Dam Project (B) Mahi Bajaj Sagar Dam Project .
(C) Bhakra Nangal Dam Project (D) Jawahar Sagar Dam Project
(E) Question not attempted
Freferfie & fos oo & e 37 SRt ager A o sReent e o 27
1 % & wadt suge ey =)
(A) FRETR 9 gfEieEy ABYy AT S AR s qiEis
(C) T AT =iy qig ey (D) '~ ETeR WK &y qRESET
(E) safaug .
Which of the following s the first Super Thermal Power Plant of Rajasthan?
Choose the most appropriate option from below:
(A) Chhabra Thermg] Power Plant (B) Mahi Bajaj Sagar Hydro Power Plant
(C)  Suratgarh Thermal power Station (D) Jawahar Sagar Hydroelectric Power Station
(E) Question noy attempted
ﬁqﬁﬁaﬂ?-mmgmnmwmwwg?
e & & HE 3705 ey 3,
*) mﬁwm (B) e st e gt e e

ACT TG T s © (D) T e T

Qi3] ? . o 12 [ P.T.O:
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cdium, the cquivalent weight of KMnQ, is .
me )

3 ;;::’;;i,a,wnomwm-
) M (26.33) (B) M (158.00)
6
O S 4By %(31.60)
)3
(E) Question not attempted / AT W
.mmﬁﬁ{&ﬂﬁwmwm%ﬂr%rmmﬁwﬁ.
? A iREE B) R
) T (D) 3=
(F) FErE A
60 Freferfiaa i aemwa” foram e T i a1 R
Ay FES T (B) W R goreman 21
(©) SireEErR (D) & ST R
(E) TRA A
61 The value of [logjqo (Slog;o 100)]? is: AR t-4a]
[log;go (Slog, 100)]> 1 A &:-
1 1
A) T¢ ®) 15
© 5 Dy 1

(E) Question not attempted / TR ¥

62  Ifsin23°= %, then sec 23° - sin 67° is equal to

afE 230 = % 9 sec 23° - sin 67° TR :

a
e G ' (B) 2_
(A) bb2 —g? b b2 a
a
= ' A 3.7
b +a
©) »_ a2

(E) Question not attempted / i v

o each other is to be melted and 162 identical

: ight are equal t
se radius and heig What is the ratio of the radius of a ball to the

63 A solid metallic cyclinder who

T formed.
solid balls are to be recasted from the liquid metal, so
radius of cylinder?

ﬁﬁﬁwwm@zﬂ’t%mtaﬁﬁmﬂﬂmmu@& 162 9 3 g
T 3 Gfeash Se, ’ 3 i
aTe e % i o oy e Rt 1 P T A T

(A) 1:6 | ¥
© 1:4

aHd
(E) Question not attempted / FgaRd

:Q13]?

13 ~ [PT.O.
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64 foum wed wrafy - fA=da B- o
(A) T B fa+mm O
(C) a9 (D) fa+mm 0
(E) 313‘3'&6 B E i
65  Hfiq-afia yez g @ a3 e A @ R ©
(A) € -FTaT (B) i‘ﬂj‘ﬂﬂﬁm ol
o) st - Ty (D) - §TR e
-(E) fguia s
66  Which qfthe following is the state flower of Rajasthan and is also a timber yielding tree?
(A) Rohida (B)  Shisham o
(C)  Khejri (D) Sunhemp :f

(E)  Qdéstion not attempted
ﬁmﬁﬁ#ﬁ&ﬁ:mmmmw%aﬁt@mmmmmm?

A (B) ™ =
(€) WS D) @ et
(E) :ﬂg?fﬁasrer
67  In humans receptors for opioids are present in .
(A) Reppiratory tract —i
(B)  Bath CNS (Central Nervous System) and Gastro intestinal tract (o))
(C) QNS (Central Nervous System) O
(D) G3stro intestinal tract ' o
(E)  Question not attempted i
RIEER T T et e ﬁ!ﬁaa%ﬁmaﬁﬁmﬁguﬁ:ﬁ(ﬁ&qm)#%aﬁ%
(A) ETeR (B) ¥ dfE 93 W@ ST 9T 34T
ser I D) WA
(E) SIgaiaw=
68  Choose the most appropriate Hindi word for the given word: REGULATION Ny
(A) (B) b
£ (D) TR Vo)
(E)  Qugstion not attempted O
69  Completethe sentence given by choosing the most appropriate word: v
A persog'ho admires/loves himself/herself too much is a- Q
(A) ovice (B) Numismatist ™
(& Narcissist (D) Narcisus .
(E)  Question not attempted
70  Choose the word opposite in meaning to- q
SUSCEPTIBLE o
(A) P{Bi.cgblc BT unpredictable @
(€)  ingyedible (D) immune W
(E)  Qugstion not attempted -
71 Choose(@y‘)c Most appropriate options to fill in the blanks: Q

——— :;);h friends are busy tonight. of them are \mm an exam the next day, bu!
€m were still ready 1o party and so far of them have confirmed.
(A) none, most, all, nope
All, most, some, none

(©) Some, some, Some, a]]
(E)  Question not attempeq (D) most, none, all, some

o313 14 [PTO:
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e Most appropriate option to complete the sentence:
¢ the . :

‘ 1“5 f* H - i1 H 4 *
o lmuuuuc of a circular 18!
rhe langue=" |
- (B)  roung aboyy

(A) .

(:j) Question not attempted

(1

Brass is an alloy of

(A) Tin and Lc;u; B lonad "

o Copper and £Inc o] & .

:8 Qucstion not attempted M g‘rf“"d'ﬂn
2

et T PP G A

i ﬁj{aﬁtﬁrﬁéfﬁ %}\\f\f\\’\m (B) e aik Fver

) I ﬂ—mm&qﬁ

(
(E) 3@%?%‘

Which technique is suitable for the disposal of biomedical waste?

(A) Landfill (B) Recycling
(€) Disposal in water (D) Incineration
(E) Question not attempted

3q-frfear srafire fraem it 39w TS 8-

(a) e (B) SR

©) urtH foeE BT TS

(E) HgaiE v

According to census 2011 which of the following districts of Rajasthan has the highest literacy rate?
(A) Churu (B) Jaipur
(C) Bikaner (D) Kota
(E) Question not attempted
2011 ﬁm%mﬁmﬁwﬁaﬁﬁm%%&ﬁﬁ%ﬁmam afer 27
(B)

(€) s D
(E) rgaita war

Given below are two statements about Lat
Statement I: Laterite soil is found in Dungarpur,

regions.
Statement 11: It loo

In light of the above statements,choos .
(A) Statement I is true but Statement IT 1s false.

(C) Both Statement 1 and Statement II are tru€. D)
(E) Question not attempted

ﬁmﬁ@%aﬁﬁawﬁqm%: P PP Y

erite soil:

central and southern part of Udaipur and in Rajsamand

red due to presence of iron. . .
> g e the most apprOpriate answer from the options given below.

(B) Statement I is false but Statement II is true.
Both Statement I and Statement II are false.

T 1 e g S, I F A -

FUT-10 ;ﬁg(m?ﬁwﬁﬂﬁf*mr;gmﬁm%mgﬁ; ~
WW%WEI%%I (B) mlmﬂ%ﬁam?nw%l
%mlg%ﬁgﬂg () 1 3R I T T €

) w1

(8): ; SIS 15 [P.T.O.
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Read the passage and answer the questions that follow by choosing the correct option. (Q. 77 to 81) 19
Experts in climatology and other scientists are becoming extremely concerned about the changes to our'climaw
which are taking place. Admittedly, climate changes have occurred on our planct before. For example, there ha~,!‘
been several ice ages or glacial periods.

These climatig changes, however, were different from the modern ones in that they occurred gradually and, as f
as we knowmmmll_\'. The changes currently being monitored are said to be the rcsg!t not of natural causes, but of
human actijy. Furthermore, the rate oi'changc is becoming alarmingly rapid. ¢y

The major problem is that the planet appears to be warming up. According to somé.€kperts, this warming Proces,
known as nlr?;al warming, is occurring at a rate unpreccdcntcd in the last 10 OOO%ars The implications for ¢,
planet are very serious. Rising global temperatures could give rise to such ecological disasters as extremely high
increase in the incidence of flooding and of droughts. These in turn could have a h&fthful effect on agriculture,

It is thought that this unusual warming of the Earth has been caused by so-called g,rfe’e‘nhouse gases, such as carbey

dioxide, bcldﬁ\emmed into the atmospherc by car engines and modern industrial processes, for example. Such gases

not only adctg the pollution of the atmosphere, but also create a greenhouse effectas& which the heat of the sun js

trapped. Thigdeads to the warming up of the planet. (e

Politicians dre’also concerned about climate change and there are now regular sum}ﬁfts on the subject, attended by -

representatiyes from around 180 of the world’s industrialized countries. Of these sg_fmnts the most important one

took place in Kyoto in Japan in 1997. There it was agreed that the most industrializédcountries would try to reduce "
the volume of greenhouse gas emissions and were given targets for this reduction ortre!:missions.

It was alsogqggested that more forests should be planted to create so-called sinks to absorb greenhouse gases. At

least part ofghe problem of rapid climate change has been caused by too drastic deforestation.

Sadly, the ets are not being met. Even more sadly, global warming about chmﬂe changes are often still being

regarded as&:aremongenng \.Q

M : -

77  Identfy the correct statements (o)

The ice ages or glacxal periods are examples of climate change§h the modern tlmes

In the past, chmate changes occurred gradually and naturally

Rising global tempratures can cause more ﬂoodmg and droughts

Greenhouse gases are glven out by plants

16e%le »

r-!
The climate changes loday are dissimilar to those of the past. Q
Choo&the most appropriate answer from the options given below: %
(A) (bjaanddonly. (B) c,dandeonly. v
(C) "Blcande only. (D) a,bandconly. Q
(E) Question not attempted (:3
78 The [_Z‘l:_C_FnhOUSQ effect is caused when ‘
(A) (Fhe gases like carbon-dioxide trap the heat of the sun in the air
(B) Fhe green coloured glass or mesh is used to cover the plants v
(©) Hhe green trees form g canopy in the forest e
(D) ¢The roof is covered with green plants 1o keep the building cool tg
(E) uestion not attempted ' i |
o131 ?’ 6 & IPLY
4
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were not suggested at the Kyoto Summit?

1
. e .
which © t Vost in dusmallzed countries would reduce emissjop,
) ests should be cut to create the so called s nl:s
1

z More for
. The automoblle industry should roll out electric vehicl
d. Targets were set to reduce  the volume of greenhou es.
' dustrialization sh : S¢ gas emissions.
. the) rate of indu ould be contained. —
b o i mqél, approprlate answer from the options given below: v
. (o3
» 9 and eonly: (B) b,cande only. O
© b and c;)nl)’;t o 9) b, c and d only. "
' t attempte - = -
(E) Quesuofn{,} 0 P - :
The ,mphcatio‘n§ of an unprecedented rate of are very sé‘;fous.
(A) Ecological disaster (B) Kyoto summit 4
| (©) Flooding. draughts (D) Global warming
: (E) Questlon pot attempted : y
3 lsl Match List-1 wlth List-1I M \ ::’:
List-1 (Words) e\‘\gy\Ag List-II (Meaning)
a. L:x:brecedented Y\\_y\@ Forests land, whxch absorbs carbon-dioxide
. 3 from the air :
b.  Implications I That which has pever happened before
G Sinks III.  The deliberate spreading of frightening rumours
d. Sc re mongering IV. Something that is suggested
Choose the mos; appropriate answer from the options given below: ol
(A) a- 11, b=V, c - 11, d-I B) a- v, b- 11, =11, d-I
() a-LbtiLc-TLd-TV (D) alIbIch’dHI
(E) Questldjl hot attempted 7__5
(-ﬂm. “:!
8 Natural rubbeg.is a polymer of : ™
(A) Neoprene (B) Isop::ztam v
(C) Buna-N : (D)  capr
(E) Questian-hot attempted -
RIESRERE Riffiad #1 TgIF € - ”
((A:) o (B) T f{:
i'aim';tm oy e &0
©) aqu.q:{t@una-N) L-ai
E ; L
i ""3“‘“?’*‘ o
M et the Indian Constitution borrowed th Directi inci
83 From which of the following Constitutions 1 cind 1 ed the Directive Principles of
State Policy? _ (®) US Constitution
(A) Irish Constitutiont (D) Canadian C Onstitution
(C) British Cdnstitution
(E) Questxd(n hot attempted . Fasa® P IGACCHED fugthat ﬁ'ﬁﬁﬁ i
sy @t T R?
P 8 e T a ®) gk o
Ky e LR (D) TSI I HRT
(©) ' - €
(E) 17 (48
v [ P.T.O.
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84 Who was the first woman chairperson of Rajasthan Human Rights Commission?
(A) Pratibha Patil (B) Shanta Kumari
(C) Kamla Beniwal (D) Kanta Bhatnagar

(E)  Question not attempted
TSR QSR A £ Teeht wfear s @7 s

(A)  whnmoifes (B) iten Fwrlh
(C) =me aftarw Dy~ i e
(E) yafmus
85  Which of the following is an important ‘ISABGOL’ producing area of Rajasthan?
(A) Jaipur (B) Kota
(C)  Barmmer (D) Jodhpur

(E)  Question not attempted

mﬁ%mmmmmmw‘mﬁa’mmﬁ
e

(A) SR (B)
(C) e . Srage
(E) sgafavsw AP /W

8  Which City of Rajasthan is known as “City of Garments""? '
(A)  Jaipur (B) Kota
(C) Bhilwara ’ (D) Bikaner

(E)  Question not attempted
TS FTFH J1 36T IR 3 W6t (Rt 397 i) 91 & ST e 22

) |\ (B) T
(C) fiearar (D) df=FrT
(E) Fgaiaws

87  What is the minimum number of meetings of Gram Sabha to be held in Rajasthan in a year under the

Panchayati Raj System?
Choose the most appropriate option from below:
anm@qam@ﬁﬁmﬁﬁaﬁﬁmﬁm%ﬁﬂaﬁ#wﬁwﬁmﬂ@
P & & walt 3w famea 1 g T RRY

—tA) 2 . (B) 1
(C) 4 (D) 3
(E)  Question not attempted / ﬂjﬂflﬂ o4q

88 Inthe lzm-Five Year Plan of Rajaéthan which sector has been given maximum allocation?
(A) Agnculture and Rural Development (B) Social and C ity Service
(C) Industries D) Pow onunumty ervic
(E)  Question not attempted er

Mmgémmmam maﬁ“'ﬁ’ﬁqmﬁmmgy
i ' (B) W st amgrfaes dan

e (D) diat
(E) ST

Q3] F 18 [ PT.O
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H
ol

- . ‘Maru' then *‘Maruy
‘was first called ‘M ara’ and later on camc to be called ‘Marwar’.
hp[““"""l“ option from below:
nﬂ

L
¥ ( ﬁ.n s¢ hc ! | (B)  Dholpur o ;
\) thr:\lh .;,,5 D) Jod hpur &
vy i mpted 1
(« ) ‘“0" \t attem] ™
) |
e pree
et B) dEg
o
((‘) ? ﬂ | !‘l
. the hr'ﬁ person to use word ‘Rajasthani’ for the language of Rajasthan?
N Who v ¢ W;llmm (B) George Franklm
org
s (‘:mx Abl‘ﬂham Grierson (D) George meon Garryson
©
n ot attempted
gw:uwno ¥ fore e mmma&mm:gamn
(B) F
St fafeaw ShehfeT
o Sl STTEN firrd (D) St Rt TR
/‘p) o
™ ; o
(E) B@ﬂﬁ 1] . :
Which Indian recewed the ‘Green Oscar’, Whltly Gold Aw;rl(li 2(()32:Wd; ,,:
3 It (B) si
oy e @ e
(C) Ammiat
ted
(E) Questian.pot attemp —— .
frg W sfreRt, sdted! Mes
2 W WW e 531" e
(o) forr ECiLC . ©) Mt
(C) 3 =i | i o o
® R examine the issue of holding simultancous elections 1f IR
D t .
92  Whoisthe chalfman of the committee set up to (B) Shree Laxm}kaﬂt Bajpai
(A) Shree Baburam Nishad (D) Shree V:Jaypaj Singh Tomar
ind ¢
(C) Shree Rg‘mnath Kovi et
ot attempted qﬁaqﬁﬁf% &2
%ﬁgﬁéﬁmﬁ*@ﬁaﬁ*m gnmzﬁzﬁrﬂg:;rn%
sft fersraaTct
(A) e FETE l »1
(C) AT Ef"aa K
(E) wAgaRd Fﬂ . than, is associated with Wl}lch one of the following?
Divyakriti singh of RY (B) Equestrian show jumping
9 2023 Arjun awarylcC. " et CpeRs couatry
(A) Equestrlaﬁ hunter trails (D) e
C) E uestn"? dressage AR .
((E; chllestlo:;‘ot attefz‘g’z“; W Wﬁ’ ﬁm ﬁ'fﬁft ghdﬂii'lﬂ
TSR < D)l e
&) gsaa'rﬁ sl g
©. F 19 [ P.T.O.
(E) i sm

3| F
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94 Match List-I with List-II

1 e -1 @ e i

List-I (Decimal value)

et -1 (FIHEE {E)
a. 4
b. 5
C. 9
d 8

List-1I (Binary value)

-1l R
L 1000
I1. 1001
II. 0101
V. 0100

Choose the correct answer from the options given below:

A9 Re e fre 3R Fd W g
A a-1lLb-1IV,c-II.d-1

(© a-IV,b-I,c-MI,d-1

(E)  Question not attempted / JyaRa ¥

“USB™ stands for
(A)  Universal Sequential Bus
(©) Universal Serial Bus

b4

(B) a-IIb-Ic-IV,d-1I
(D) a-IV,b-Il,c-II,d-1

(B) Uniform Series Bus
Universal Series Bus

(E)  Question not attempted m g"\
T ? @%é//

(A)  Fhrade e o u—\‘(\U\
_oy ghadadifaasg
(E) Sgaiawx

®B) Ihwrdfissw
(D) FadaHifeaw

96  Who is the I Indian Woman Athlete to win three Paralympic medals?

(A) Sheetal Devi
(C) Mona Agrawal
(E) Question not attempted

(B) Kanchan Lakhani
(D) Avani Lekhara

i ATt e it aret vaelt WA witer tyehe SR ¥

(A) Yot
(C) T IE

(E) igafaws

(B) FETEEHY
Dy aER dET

97 Porpanaikottai, Sangam age site, is located in which state?

(A) Arunachal Pradesh

(C) Kamataka

(E) Question not attempted

RYE, s g e, e e o fewr &
(A) VTS Y

(©) =ies

(E) Sgufaws

31T

(B) Tamil Nadu
(D) Kerala

(B) ey
Pt

20

[ P.T.0-

[ —— ]
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sian player o be nominated for Internationg Tennis Hall of
1s Hall of F

(B) Mﬂhcsh BhUpati
(D) ROhan Bopimna

st A
0 is the ﬁrbt
Whe [ cander Paes'

ame?

© Qucsﬁ on not attempted .
™
|y fes i
:;: i () e st

¥
E) Sl

celect the MOSt incorrect statement about Ganeshwar excavations,

[n Ganeshwar excavations undertaken by the Department of Archacology and Museums, Rajasthan,
brought to light about a 5000 (approx.) year old culture.

Here copper was received from Harappans.

&)

(B)
©
D)

Ganeshwar is an important site of copper culture. _
It was discovered at the source of river Kantali at Neem Ka Thana.
(E) Question not attempted '
mﬁ@é%dﬂﬁm ST Y T T

(A) Wﬁww@mﬁmmﬁnﬁ@éﬁw 5000 o G wepfer ST F AT

By Tt oo & TS STH R St o

- : 2l
©) AT Y e o T HEe{l T
D) m,mmmﬁa‘a—c{?ﬁﬁ%@ﬁ“@ﬁ'"ﬁ

(E) Fdia =
. . iasthan?
I8 Kalibangan is located in which place of RaJ " (B) Sri Ganganagat
(A) Hanumangarh (D) Sikar
(C) Jaipur
- d
(E) Question not attempte '
mm%mwﬁviw'%" (@) IR
p) Hi&
b TG (D)
©
() waf@wd ' amal is 34th from the left end while Ravi is 20! from the
: ueue facing o a1 stands second to the left of eshaan, then find out the
01 Some boys are standing ' - ght of Eshaall: if Kam :
right end and Ravi is 9% 10 1P¢ " i GV 343 ST R afeet B 203
in the 102" gt Ry ifes o T 1 T
t r of boys 1D ft g AT L TUT T @3 RS
otal numbe g e ’g-m:r%ﬁiﬂfﬁ R
@@@ﬁﬁmﬁmﬂmwﬁl AR T
o, frE R A T ®) 66
y— ~
e Fard) (D) 62
&)y 64 -
P.T.
(C) 60 mpted 4 ﬂﬂﬁﬂﬂ 21 /’_-7 ay [ T.O.
(B) Question ™™ "
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102 There is certain relationship between the pair on the left side of 2 Setup the same "elﬂ!ionship on gy

side of :: then find out which uplim‘{muld replace the *?° b "
f . 'l"
LANGUAGE : PCRIVCKG :: COMPUTER : ? ( o
E %mmﬁgrmﬁmn@mm & ¥ afedh avs maﬂthﬁﬂmﬁﬂﬁmmﬂwmﬁmi
W W fr anamm ity N
) 2
LANGUAGE : PCRIYCKG :: COMPUTER : ? try
AT GQORYVIT 4 (B) GQQRYSIT 4
(©)  GQMNYVIT (D) GQRRYVIT
(E)  Question not attempted / AFgha wa -
N o) o)
103 Find the numbers of triangles in thé'given figure: 0
ﬁﬁﬂféﬂgﬁrﬁﬁgﬁaﬁrmﬁ@ 0
Y =i
2l )
=i ol
(A) 31 ®B) 17
(E)  Question not attempted / 313%%’(?{ b r;;l
C
04 The area ofth.e tnangle formed byb_’{’c lines2x +y=4, x -y +1=0and x-axis is : L.i;
(A) 4 squnits o (B) 5 sq units ;:’;
&l & _ :
© 5q "f"ts ) (D) 3 squnits M
(E)  Question not attempted L
TEH 2x+y =4, x—p+ | = 0 T x-371 & Fafier Pger st v 2,
(A) aaige 1 @) Ssatswd -
(€) 27w o) (D) 3 g o
(E) i@y 3 ' m
W

e

105 i

gﬁm; :'?ure bc'(x')fw’ PQis purallelto RS, 2PQM = 80° and <SMO = 25°, What is the vaju; of ZOSM!
AFfa § pQ, RS aﬂmﬁfi} £PQM ~80° 31 £ SMO = 250 3y £ OSM 1 R

P
0 0 i
e

Mo

Ts) &
w L
< 4 U:;}

. o v
(A) 55 (v - <
©) 50° v (B) 65 ™
(D) 60° v

(E) Questionnotayeryyay g Wy

Q13] ?" ‘ TI 22 IP.T-O'
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e true even if the
- atements 1O b Y Seem to be 4,

Ve . . 5 ariancE f]‘om c
ke g‘. sand then decide which of the given conclusiong ommonly known facts. Read the

logica] :
! cpﬂclusmt . No singer is director ly follows from the given statements.
nt ¢

meé .
ot Some directors are teachers
Some teachers are students

jon: (I Some singers are students

(1I) Some directors are students

, ion I nor II foll
Neither conclusion I nor II follows (B)  Both conclusions I and I1 follows

only conclusion I follows (D)  Only conclusion II follows

f) Question not attempted
(

ﬁﬁmmmﬁaﬁrmmm,mﬁwﬁmw%mwﬁmmﬁ?ﬁﬁ,?ﬁﬁﬂﬁwm
ﬁmﬁﬁuhé%aﬂ:;r;mwﬁ@émﬁamﬁmmﬁ T el 2
. =y e feTeR e @l V.
m;—iﬁamm% @
@WW%I
frar: (1) 79 T BT €
(m@@ﬁi‘mwﬁl e _
() e Fred 1 rEn mEE & (B) MMI@H?%
') Faw et e /@rmﬁqénaﬁr
(E) SFRIE A

e first Chief Secretary of Rajasthan?
‘(B) Shr Rajesh Bhushan

D) Shri Apurva Chandra

7 Who among the following wWas th
(A) Shri K. Radhakrishnan
(C) Shri V. Narayan '

& |
ﬁwﬁiﬁaﬁ%mﬁ%wﬂg“ﬁaﬁ @) AT

o

T30
B 4t 3, e @) I
(C) st <ft, ArqEoT
L& prated bY slitm Leagueri\ gust, 1947
. > cele 3 20 Au »
g When was ‘Direct Action Day’ €€ (B)

: 16 August, 1946
(A) 16 August, 1947 D)

(C) 15 August, 1942 4 .-
te
(E)  Question not attemP @ & ﬂ"‘fmv ® 20 AT, ;:Z
Eﬁa‘q Fﬁ'T ' ‘gﬂa i ’a])_: 16 T,
7T 1947 ,
s , S [ P.T.O.
(C) 15 s, 194 23

0 (E) :qgaﬁ’a‘ﬂ%r
13l?



Uy I WIICH COICKULY s v rees - i
oin Telegram Group HaryanaJobs in"
Rajasthan?

(A)  Tarun (O
(€)  Kishore ‘O
(E)  Questionngt attempted

(B) Vyask
(D)  Shishu

wummgmu’tm&:fmrﬂ 202324 3 TrreaT i watfirs e Aot o 1A @

wy w7 _ABy” T
©) fain (D) farg

(E) azgﬂfmﬁ
W

110 12ZB (Zcunhyl%ﬂs cqual to:
1 ZB (Zettabyt ¢

(A) 1024 KBy ‘. By 1024GB
(C) 1024 EB (D) 1024ZB

(E) Qucsliowot attempted / 3T 94
(®))

v
%)
£
L

re

48]
r{

r4
(o))
Lo
Lo
=4
(o»)
48
=4

: %z
111 Which of the fH owing shortcut kéy of PowerPoint that helps to present the slides from the beginning?

ﬁw%m&a,zéqmmaammey)smmammmﬁggma

r{
(oo

88|
v

(A) F5 (?) (B) F4
(C) FI 1 /(D) F7
(E)  Question not attempted / 1Tdfa w41
. H .
112 At what time begeen 7 and 8 O’clock will the hands of a clock be in the straigp_t'line but not together?
. \D 3
(A) 20 min pas} 7 (B) 75 min past 7
. Q 5
(C) 5 min pagry " (D) 5{7 mini past7

oA

(E)  Question'Tiot attempted

wg & 7 3t saﬁ%mmﬁg@fﬁwqumﬁm@ﬁr&rﬁé&ammﬁqﬁw

3016689

A) 7
7m{§mﬁ D 7% 5— ﬁqzﬁg{\
(E) | Xe)
113 mmmmw%$w%&g S
3 + 9o
‘ (B) 9+wwr 2
(©) Fedl + W (o)
a31F 24

? . -

y [ PQT.O‘

meummm..w.._‘.. e
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he ‘Kacchi Ghodi’® dance associated?

with which 0 wsion 18 tnate ariion faabelow
Choose the Most wP’ﬁmp B i =
W T8 (D) Holi h
(©) Namair "" . o
uestion n ~3mml‘
e e W&%mamm 2,
B & R S feed 2
@A) @) famw
(€ TR vl APy weht
ﬁﬂﬁﬁﬁﬁg g
The life history ti?ithe saints which is available in poetry form in Rajasthanzgaﬂguage i
o b
(A) Vachnika (M (B) Dawavait (]
(C) Parchi B (D) Vaat ‘:3
(E) Question not attempted '
ﬁmﬁmmmmﬁmﬁmwﬁm%m%
(A) F=frE S‘; ®) @R =
AT & W (D) ¥« %
(E) Aqaia s Us)
3 o =
M O
Where do womenswear jewellery named ‘Borla’? ™
(A) Hand K - (B) Head ™
(©) Ear - _— (D) Nose
(E) Questxon nﬁ‘ancmpted ' -
wmwwﬁ»’aﬂmm%ﬂ \ (o)}
a) '@ v < B =
© == a : D) & —
(E) qaitd w1 g
v~
World’s first cloned buffalo was born in which country?
a) usa O (B) Russia —
(C) India O (D) China o
(E) Question ngt attempted Ve
fara <r geeft Y T o= fore & o gem am? g
A) gwme v —BY et
(C) ¥Wrd D) an |
(E) Sraf@ws

Q13 ] % 25
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118  When is the National Sports day cclebrated in India?

(A) 25 August (B) 29 August
(D) 23 August

(C) 21 August
(E)  Question not attempted
YR # Uy A foaq & 7311 Sar 7
(A) 2534 AB 29 3mE
(C) 213ma (D) 23 3™
(E) Igaf@ux
119 Who among the following is the author of the book titled ‘Why Bharat Matters'?
(A) Nirmala Sitharaman (B) Amit Shah
(C)  Rajnath Singh (D) S. Jaishankar

(E)  Question not attempted
Frefafaa & & 9 <arg wma feg AHE TR & G 52

A% Tt diaror (B) i
(©) U fae D) :

TH. SIgIa]
? T —defam - ok baganand

120 CH;COOC,H; + H,0 — CH;COOH + C,H;OH
In the above reaction, which of the compound is the “auto catalyst’*?
S iR § 7 |1 i < 8 ht i e e &2
(A) CH;COOH ' (B) C,H;OH
(C) CH;COOC,H; (D) H,O . r*
(E)  Question not attempted / AT ¥y 6 ‘

121  Zn+CuSO, — Zn SO, + Cu | N L\ M ﬁ
/ﬂ,\q @_‘% m’é?

Which is being oxidised in the above reaction? ) QT-f"
F @ srfiafiean § ¥ sifair g i | Y

(A) Cu (B) CusO,

(C) Zn - (D) ZnSO,

(E)  Question not attempted / ATl wg

122 Some metals sink in water, as:

(A)  their surface area is lesg than water, (B) their mass is more than water.
(C)  their density is more than water. (D) their density is less than water
(E)  Question not attempted
TS UL e | g et &, iifeys -
(A)  STH THIT &%et 91 & 39 BT 2 (B)  ITT ZoNTT et & 1R By &
(O FFETE I Afyw B 2 (D) FFETEITAFTOMR
(E) aRaws
QI3 ’ ? 7 26 [ P.T.O.
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icle Ochnstimtion of India, deals with the duties of the Chief
r ¢

ch A ) Minister of State"

y \\1)1' Article 164 B)  Article 165 e?
¥ (f\ iCle 162 (D) Aﬂicje

© j'g::estion not attempted (.j‘iil()'l

n 2 1 S T 6 e -

E) Fﬁmmzﬁ‘m I W%Wmm%%

1 B) oemee

€ pat! (D) 313'6&3"167

p g ™M

S o |

Raj a7ty
() (Reservation of seats for SCs and STs on the basis of the;r gopul t
v ation.

@) 'Oficial participation of political parties at al| levels of Phfy

() dfthe Panchayati Institutions are superseded, elections mizt be held ith
’ eld within o

';?:ﬁawvﬁﬁw%mm%mﬂwwm oA
(D) qalmmwm%mm%,a‘r@aﬁ;wm
® Fetaws JI P ST ey
o o
e ™
s Frerfetfiea i v o e we 2- -
&4 T (B) dfemm
Dl s g
(E) “orafa ws | o)
b e e s e a9
(A) o (B) T,
©) Tgem )y fRor)
®) St s
& ﬁ“ﬁiﬂmaﬁ#mﬁﬁﬁwaaémagm%- v .
{ (B) wreriies fardraor
(&) tfa'uﬁﬁﬂur : (Vs
e i‘%ﬂ'qu[ ' (D) 'aélsﬁﬁg
123 (E) ) AR ) Q
ﬁq%{@gﬁﬁ T TR TR - (‘:}
) S5 W
©) fEum
()  ryafa s 27

013 | ? [ P.T.O.
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b
129 Frfafes § g ad o T 8- y
a ol bt M P
- a ar
e. W&y :(ﬂ( (¢QH
1 o g vt 4 & watfurss 3w 3w gfi i g,‘é
(A) cde (B) b.de et
(©) a.cd b,c,d
(E) i ws % '
130 fF=fafga d *Corrigendum’ %%Qmﬂﬂ?f%?ﬂm%-
(A) g=y (B) Hg
(©) wfew ADYy* aRTH
(E) 3maftawy
131 Fefafas d a9 w ot o
AT TR (B) ul=gux
(C) =wux (D) fEEorer
(E) uiaus
132 373 & ffga swaf 2-
CVIE BT ¥
© = (D) =
(E) dafaysw
133 ‘THU % ITHL I T A A1 ¥ FoT vk w182 -
(A) Fard (B) waf
) A (D) FF
(E) Igaiawx g
134 -1 gt -1 & gafoa i
T 1 ) aef -1 ey
a. za;rmﬁmqmm I  uelies st s
b.  Tis s . {3 afeny e
c. S REEH 0. 3% @A
d  SEITEHr IV. 99 S a1 HET
- ¢ ___h\‘—"‘
3 fq g fareredt % & watfis suge s
(A) a-ILb-Lc-I,d-1V "(B) a-ILb-Lc-MLd-IV

a-Lb-1IV,c-1II,d-1II

Al g4

135 ‘3319 T@AT qerat &1 6et 3n 2.
(A) FhaeamEr

Oy R T @
(E) qufays

Qi3] ?

(®)
(E)

28

/}B&a-n,ﬁ-_@,é-l,d-lv

(B) ST AT
(D) A firemr

[ PT.0.

S
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U ey 1€ir workg
o the B Join Telegram ﬁ'ﬁo l?nmmh
what ‘w wecks (
v (,\\ ‘\u‘(‘k
y

| (‘()rtmghl
¢ t)uminn not attemy

) sl T I A fong nw&(\ NB| _{ﬁ\ ng;m W gy I {y
U & et — > .

gt tm Qe M) w.ﬂ
AN D) e iy

‘) % AWIE

:N 31'-1“““ N

he largest Solar Park of India whigl, i Situnte
the large: } Bl E=

Name the most appropriate option from e

chm\.\‘(‘

din Rujnsllmn,
A) Bhadla Solar Park
(i

low:

) Mandsay, Solar Park
¢) Charanka Solar Park (D) Pavagady, Solar Park
(H Question not attempted
;ma;m@mmmmmwmmﬁﬁm?

R R 3 ey

Y SR B)  view grery g
()] quﬁ (D) me
(E) afe way

% Rajasthan Small Industrie

$ Corporatiop Was establisheq in the year..
I S ST e 2 ey o o
AR 1961 (B) 1967
© 1947 (D) 195]
() " Question not attempted / AR Wy
3 Gandhi Sagar dam is built over Which of the following rivers?
(A) Chamba) (B)  Manas
() Narmads (D)  Sabarmat;
(E) Question not attempted
W sty ™8 e T e
AN T (B)  wrrg
©) =g D) wrerh
(E) AT Ra wy
149 The fivers originating from the Amarkantak range, flowing in al| directions, is ap example of which of the
:?\‘;QWilr)lg type of drainage patterns? B) Radial
endritic ipetal
©) Trenis (D)  Centripeta
Question not attempted wﬁmm}ﬁq&&aﬁﬁﬁmm%wmﬁwm
TR 1 otk Prerery e et et
H ST 3y (B) 3y
(4) Ty (D)— nfirdy
© RISIRL
(E) 31331?{?{3%1 29
Ql3] ?
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141 Which of the following translators converts high lcvel language into low level language at once?

(A) Interpreter (B)  Controler
(C) Asscmblcr (D) Compilcr
(E)  Question not attempted i
. L] - ‘
mﬁﬁmmwmmwm}mmmﬁmmmmﬂaﬁaﬁlhﬁ
(A) RO 0 (B) AR e
(C) mmew ‘0 Dy dTEE —
(E) Jufaws . o
e (")
)
e 1

142 HTTP stand for
Hyper Text Transfer Protocol

(A)  Hyper Text Transmission Protocol (B)
(C)  Higher Text Transfer Protocol (D) Hyper Text Technical Protocol
(E)  Question not attempted :;:
wWaAARwmpiwd_ T | 0
(A) ¥R IR grafE R f(ﬂf' AT AL ZEH WA
(€)  ER R g st @) T S 2T ST
. L“-‘ — = =

(E) IeRawa A ™M

i ™

143 Where was Asia’s largest civil aviation event, ‘W;'r;gs India 2024’ held?

(2) Mum?;ai - . (B) Hyderabad 1
(C) Kochi T - (D) Lucknow =)
(E)  Question not attempfed ?

s . !
qﬁmmaﬁwm@m feim §7%aT 2024° et s oy mar a4
(A) uad - L _ABY e <

A N : ™M
(C) Fr=dlt ' (D) wETS
R v~
(E) Aguftaws
144 Choose the most appropri‘;ig option to fill in ihe'b'lank: g:
By tomorrow afternoon, the,plane carrying med;c; i
» the rrying medicines for war vict Ukrain
0 st : (B)__ tak_v'lcnms $ off for e.
v : e
(C)  will take ;ZJ‘ (D) w'lli S

A, i 1 i
(E) Question not attempted ' P f(?)

|
Choose th ] i """

145 ; lsc € most appr. op‘nate passive form of thé given sentence:
eople must not h_?_a_vc blcxclfs in the hall, _ :
(A)’ . The bicycles are nof¥o be left in the hall b &
B) Thehallm Al ¥ Csonle. ©
( ust not ha Ve any bicycles of people 0
(©) Nobody shouyld leaye bicycles in the hall, 2
(D) BIIF?YCIICS must not be-left in the hall, (‘5‘
(E) Qu;St!PD not Eltteml?_t_’1 M
. Ty v |
3 ' 30
31T [PT.0-
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printe option t0 (ill in the blanks:
o

(he most indy morning but they still hired boat and went for
w (.h‘\‘\\‘ - \‘ " - e \ gail
1 NP ~onst.
I _— 3 ) (B) a,a,a,the .
\‘“.5‘ - ) . '
3!\) the, X & ths | (D) the,a,x,a
v g, the
: X 1
© Question not attempted
) tac ion by eye-lens converges at a point i .
jight from & distant object after refract yey g p n front of the retin,, this
, [rthe 8 . .
W ' feye defect 18 called : . '
o o (B) astigmatism
\) P“‘-‘hyopm D) h ropi far sighted
l}‘ myopia or near sightedness (D) hypermetropia or far sightedness
(L :

£) Question not attempted g v . .
;ﬁmaﬂﬁmmﬁwﬁa%mﬁ%muﬁ%ﬁm%qﬁwﬁgmaﬁwﬁam%eﬁmm%
R LE LA ' ' |

(A) St & =

o s a e g () R g g

() Nj’dfﬁgﬁ

18 Anobject is placed at 30cm in front of a concave mirror of radius of curvature 15cm. The image formed will
be - ' ? : _

(A) magnified, virtual and erect (B) of same size that of object, real and inverted.

(C) magnified, real and inverted (D) diminished, real and inverted

(E) Question not attempted

@ar«jaﬁlsﬁmmﬂmzﬁw%aﬁmﬁtﬁaﬁwr@m%ﬁaﬁmgﬁﬁam:

(A)  smafiia (arg), STl ST (B) W*W-TWW ;
(C) st (arg), aTeataren HRIE (D) ey, AT SRIT |
(E) ufaud

rney to the destination of Sun-Earth L1 point on-

149 India® ; begun its jou
dia’s first solar observatory has beg (B) December 01, 2023

(A)  November 07, 2023

€ 3 25 2024 (D) September 02, 2023
anuary 25,
(E)  Question not attempted oy g S €2
e de uet - ey 3 T faig L1 o1 AT A ?
‘(T?ﬁ ' i RS B) fewsol igii
991 07, 2023 T 02,
(€) Smad 25, 2024 i .
(E)  awqafea wx

, A
‘ i vehicle of ISRO used 1O launch the Chandrayaan-3 misston:
c

! : 1ift laun -
% Which one is the opcmuonnl ‘::r;);lm @ ( SRO) & mmcﬁ et fera iy amesr @y @ 8?2
WEaE-3 fem W A= (ST B) GSL
y LV MK2
(A) GSLV MK3 /('D)/ GS
(C) LVM3-M4 s A
/ -
(E) Question not attempted 31 [ P.T.O

Ql3|?





